Workshop Calculation & Science
ELECTRICIAN 2nd Year

Super-6 Series
Class-01

01 : What is the unit of strain?
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A : Kg/cm?

B : Newton/metre?

C : Metre

D : No unit

Answer- D

02 : Which symbol is used to express change in
length?
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A:L

B:dl

C:l

D:e

Answer- B

03 : Which hand book referred by machine

engineer?
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A : Parry's cheorikal ﬁﬂﬁraqhw

B : CRC 3Rt

C : Mark standard ATd €TSS

D : Oxford Dictionary SHRIDIS AEDHI

Answer- C

04 : What is the name of a booklet, the rates of
various terms are indicated?
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A : Price bank/'ﬁf\‘l%

B : Price bunch / H¢3 =81

C : Price tag / {9 JaIh
D : Price catalogue / Wﬁiﬁ

Answer- D

05 : Which authority publishes schedule of rates?
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A : Individual / SfadTd

B : Corporate / e O gefdd (Wv@ﬂ?)

C : Partnership firm / TIEARIRT BH

D : Government department / TSR faurT
Answer-D

06 : Which is used to reduce the friction in
machine parts?
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A : Kerosene /ﬁ?‘c&waﬁ

B: Petrol/ﬁ?ﬁﬁ

C:Water/qT:ﬁ

D: Lubricants/@%

Answer- D

Class-02
07 : What is the purpose of a lubricant?
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A : To increase the pressure / cdld aaﬁ & fog

B : To increase friction /Wﬁﬁ@ﬁ%%ﬁ

C : To reduce friction /Wﬁﬂﬁﬁ%ﬁﬂ
D : To reduce pressure /Wﬁﬂﬁ%ﬁﬂ

Answer- C

08 : What is the value of 14x+3y+25x+2y?
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A:17x + 27y

B:16x + 28y

C:39% + 5y

D : 44xy

Answer- C

09 : Which is the formula for am / an?
am/an dlJA DI T ?

A:am'n

B:amm

C:agmxn

D:(amn

Answer- B

10 : How the profit / gain is expressed?
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A:R

B:$

C:%

D:*

Answer- C

11 : How the years is denoted in simple interest
calculations?
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A:P

B:l

C:n

D:r

Answer- C



12 : What is the formula for (a-b)??
(a-b)? BT T T g2

A:a%- 2ab + b?

B:a’ + 2ab + b?

C:a’-2ab-b?

D:-a%-2ab-b?

Answer- A

Class-03
13 : What is the expanded form of S.P?
Tl (S.P.) BT fawaid =0 =11 52
A : Selected Price
B : Special Price
C : Selling Price
D : Super Price
Answer- C

14 : What is denoted as 'l'?
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A : Principal / Tifua

B : Interest / 3?5\?

C: Rate /QT:r

D:Year/é’qT

Answer- B

15 : How the 'Principal' is denoted in simple

interest calculation?
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A:'P

B:'l

C:'R

D:'n'

Answer- A

16 : What is the value of 625%?
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A:0

B:1

C:525

D:25

Answer- B

17 : Which type of stress?
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A : Tensile stress / d1d Ufdad

B : Compressive stress / GUIS fdad
C : Shear stress / ®d- Ufaed
D : Torsional stress / 21Id Ufdsd

Answer- C

18 : What is the expanded form of (a+b)??
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A:a’ + 2ab + b?

B:a%-2ab + b’

C:a%+ 2ab-b?

D:-a%-2ab + b?

Answer- A
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1- GlobaliTi YouTube Channel Link-
https://www.youtube.com/globaliti
2-  Global iTi Mobile App Link —
https://play.google.com/store/apps/details?id=co.davos.srgzl
3-  GlobaliTi Telegram Link —
https://t.me/globaliti
4-  Global iTi webiste Link —
https://globaliti.or;
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